
3)

2)

4)

1)

5)

Comparing Money

Teaching Resources @ www.tutoringhour.com

S2

Reese has S55.56 in his coin jar, while Abiguel has S53.89. Whose jar contains
less money?

Eric’s daily expenses total S85.25, while Wendy spends S85.50 on her daily 
essentials. Who spends less?

Grandmom and Grandad gave Juliet S80.00 and S50.00, respectively. Who
gave her more money?

Max went to the store and bought a bag of oranges for S9.50 and a tub of ice  

S9.00. Which item cost more?cream for

Sharon and Suzy work in a pharmacy. Sharon earns S18.75 per hour, while

S20.50. Who earns less?Suzy earns 
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